
Part II

Analytical Solution of Betatron Motion 
Weak Focusing Synchrotron/Betatron 

Courant-Snyder Invariant 



The Notion of an Amplitude Function…

!64

• Can trace single particle 
trajectories through a periodic 
system 

• Can represent either 
• multiple passages around a 

circular accelerator, or 
• multiple particles through a 

beam line
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The Notion of an Amplitude Function…

Can	we	describe	the	maximum	amplitude	of	

		particle	excursions	in	analytical	form?	

	 				 	 of	course!						coming	up	next	...
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Pushing the “Envelope”
•Wish to look for a functional form of the outer envelope of particle motion, and the rate at 

which the phase of the oscillatory motion develops within that envelope 

• This will enable us to decouple the motion of individual particle from intrinsic properties of the 
accelerator design

Envelope described by an  
“amplitude function”
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Hill’s Equation — Analytical Solution
•We saw that the equation of transverse motion is Hill’s 

Equation: 

• Note:  “similar” to simple harmonic oscillator equation, but 
“spring constant” is not constant -- depends upon longitudinal 
position, s. 

• So, assume solution is sinusoidal, with a phase which 
advances as a function of location s; also assume amplitude 
is modulated by a function which also depends upon s:  

• Then, plug into Hill’s Equation ...

x(s) = A
√

β(s) sin[ψ(s) + δ]

x
′′ + K(s)x = 0
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Analytical Solution (cont’d)

x(s) = A
√

β(s) sin[ψ(s) + δ]

x′ =
1

2
Aβ−

1

2 β′ sin[ψ(s) + δ] + A
√

β cos[ψ(s) + δ]ψ′

x′′ = . . .

Plugging into Hill’s Equation, and collecting terms... 

    and    are constants of integration, defined by the initial 
conditions              of the particle.  For arbitrary        , must 
have contents of each [   ] = 0 simultaneously for sum = 0.

A δ
A, δ(x0, x

′

0)

x′′ + K(s)x = A
√

β

[

ψ′′ +
β′

β
ψ′

]

cos[ψ(s) + δ]

+A
√

β

[

−

1

4

(β′)2

β2
+

1

2

β′′

β
− (ψ′)2 + K

]

sin[ψ(s) + δ] = 0
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−

1

4

(β′)2

β2
+

1

2

β′′

β
− (ψ′)2 + K = 0

2ββ′′
− (β′)2 − 4β2(ψ′)2 + 4Kβ2 = 0

2ββ′′
− (β′)2 + 4Kβ2 = 4

ψ′′ +
β′

β
ψ′ = 0

βψ′′ + β′ψ′ = 0

(βψ′)′ = 0

βψ′ = const

ψ′ = 1/β

and

Differential equation 
that the amplitude 
function must obeyNote:  the phase advance is an 

observable quantity.  So, while 
could choose different value of 
const,  then      would just scale 
accordingly; thus, valid to choose 
const = 1.

β

Analytical Solution (cont’d)
§ Thus, we must have ...
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x(s) = A
√

β(s) sin[ψ(s) + δ]

thus,	we	need

The function β(s) is the
local wavelength (λ/2π)
of the oscillatory motion.
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x(s) = A
√

β(s) sin[ψ(s) + δ]

thus,	we	need

The function β(s) is the
local wavelength (λ/2π)
of the oscillatory motion.



Some Comments

§ We chose the amplitude function to be a positive definite function in its 
definition, since we want to describe real solutions. 

§ The square root of the amplitude function determines the shape of the 
envelope of a particle’s motion.  But the amplitude function is also a local 
wavelength of the motion.  

§ This seems strange at first, but ... 
• Imagine a particle oscillating within our focusing lens system; if the lenses are 

suddenly spaced further apart, the particle’s motion will grow larger between 
lenses, and additionally it will travel further before a complete oscillation takes 
place.  If the lenses are spaced closer together, the oscillation will not be 
allowed to grow as large, and more oscillations will occur per unit distance 
travelled. 

• Thus, the spacing and/or strengths (i.e., K(s)) determine both the rate of 
change of the oscillation phase as well as the maximum oscillation amplitude.  
These attributes must be tied together.
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x(s) = A
√

β(s) sin[ψ(s) + δ]



Equation of Motion of Amplitude 
Function

From
2ββ′′

− (β′)2 + 4Kβ2 = 4

we get
2β′β′′ + 2ββ′′′

− 2β′β′′ + 4K ′β2 + 8Kββ′ = 0

β′′′ + 4Kβ′ + 2K ′β = 0.

Typically, K ′(s) = 0, and so

(β′′ + 4Kβ)′ = 0

or
β′′ + 4Kβ = const.

is the general equation of motion for the amplitude function, β.

(in regions where K is either zero or constant)
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Piecewise Solutions

§ K = 0: 

• since            ,  then from original diff. eq. … 

• Therefore, parabola is always concave up 

§ K > 0, K < 0:     sinusoidal + constant

β′′ = const −→ β(s) = β0 + β′

0s +
1

2
β′′

0 s2

2ββ′′
− (β′)2 = 4

β > 0

Parabola!

�(s) = �0 +
�0
0

2
p
K

sin(2
p
Ks) +

�00
0

4K
[1� cos(2

p
Ks)]

�00 =
4 + (�0)2

2�
> 0
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Summary

x(s) = A
√

β(s) sin[ψ(s) + δ]

−

1

4

(β′)2

β2
+

1

2

β′′

β
− (ψ′)2 + K = 0

2ββ′′
− (β′)2 − 4β2(ψ′)2 + 4Kβ2 = 0

2ββ′′
− (β′)2 + 4Kβ2 = 4

ψ′′ +
β′

β
ψ′ = 0

βψ′′ + β′ψ′ = 0

(βψ′)′ = 0

βψ′ = const

ψ′ = 1/β

From
2ββ′′

− (β′)2 + 4Kβ2 = 4

we get
2β′β′′ + 2ββ′′′

− 2β′β′′ + 4K ′β2 + 8Kββ′ = 0

β′′′ + 4Kβ′ + 2K ′β = 0.

Typically, K ′(s) = 0, and so

(β′′ + 4Kβ)′ = 0

or
β′′ + 4Kβ = const.

is the general equation of motion for the amplitude function, β.

x
′′ + K(s)x = 0 Hill’s Equation

trial solution:

requires:

and

 (s) =

Z
ds

�(s)

(for K’ = 0)

β′′ = const −→ β(s) = β0 + β′

0s +
1

2
β′′

0 s2

�(s) = �0 +
�0
0

2
p
K

sin(2
p
Ks) +

�00
0

4K
[1� cos(2

p
Ks)]

for K = 0 :

for K > 0 :
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Courant-Snyder Parameters, & 
Connection to Matrix Approach

§ Suppose, for the moment, that we know the value of the amplitude 
function and its slope at two points along our particle transport system. 

§ Previously have seen how to write the motion of a single particle in one 
degree of freedom between two points in terms of a matrix.  We can 
now recast the elements of this matrix in terms of the local values of 
the amplitude function.   

§ Define two new variables, 

§ Collectively,                 are called the Courant-Snyder Parameters 
(sometimes called “Twiss parameters” or “lattice parameters”)

α ≡ −

1

2
β′, γ ≡

1 + α2

β

β, α, γ

2��00 � (�0)2 + 4K�2 = 4 becomes K� = � + ↵0
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Solutions using Courant-Snyder 
Parameters

§ Our previous results become 

• drift space: 

• gradient field:

β′′ = const −→ β(s) = β0 + β′

0s +
1

2
β′′

0 s2

�(s) = �0 +
�0
0

2
p
K

sin(2
p
Ks) +

�00
0

4K
[1� cos(2

p
Ks)]

�(s) =
�0

2
[1 + cos(2

p
Ks)]� ↵0p

K
sin(2

p
Ks) +

�0
2K

[1� cos(2
p
Ks)]

�(s) = �0 � 2↵0s+ �0s
2

—>

—>
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The Transport Matrix
§ We can always  write: 

§ Solve for a and b in terms of initial conditions and write in matrix form 
• we get:

(

x
x′

)

=

⎛

⎜

⎝

(

β
β0

)1/2

(cos ∆ψ + α0 sin ∆ψ)
√

β0β sin ∆ψ

−
1+α0α
√

β0β
sin ∆ψ −

α−α0√

β0β
cos∆ψ

(

β0

β

)1/2

(cos ∆ψ − α sin ∆ψ)

⎞

⎟

⎠

(

x0

x′

0

)
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x(s) = a
p
� sin� + b

p
� cos� 

       is the phase advance from 
point s0 to point s in the beam line
� So,	can	write	any	of	our	transport	matrices	in	

terms	of	values	of	C-S	parameters	at	the	two	end	

points,	and	the	phase	advance	between	them.	



Tracking β, α, γ ...
§ Saw earlier that if given values of the Courant-Snyder parameters at one 

location in the beam line, and if know the matrix of the linear motion 
between that location and another location downstream, then can compute 
the values at the second location via: 

§ Have not explicitly proven that the ellipse coefficients found earlier are the 
SAME as the parameters above, but they are — and, we will.
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where K ⌘
✓

� �↵
�↵ �

◆
K = M K0 MT



Evolution of the Phase Advance
§ Also, if know parameters at one point, and the matrix from there to 

another point, then 

§ So, from knowledge of matrices, can “transport” phase and the Courant-
Snyder parameters along a beam line from one point to another

M1→2 =

(

a b
c d

)

=⇒
b

aβ1 − bα1

= tan ∆ψ1→2
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Simple Examples
§ Propagation through a Drift: 

§ Propagation through a Thin Lens: 

§ Given α, β at one point, can calculate α, β at all downstream points 

M =

(

1 L
0 1

)

=⇒ ∆ψ = tan−1

(

L

β1 − Lα1

)

β = β0 − 2α0L + γ0L
2

α = α0 − γ0L

γ = γ0

M =

(

1 0

−1/F 1

)

=⇒ ∆ψ = 0

β = β0

α = α0 + β0/F

γ = γ0 + 2α0/F + β0/F 2

!79M. Syphers          PHYS 790-D             FALL  2019

K = M K0 MT



Another Summary
§ So, with knowledge of the layout of (linear) magnetic (and electrostatic) 

fields from which matrices describing the horizontal and vertical motion 
can be derived, and with an initial set of Courant-Snyder parameters 
describing the beam distribution, can transport the Courant-Snyder 
parameters along the beam line 

• Hence, can design a first-order focusing system without having to track 
particles.  Within such a system the beam size will be determined by the 
value of the emittance used. 

§ These same C-S parameters describing the beam ellipse in phase space 
are found to be the same parameters found in the analytical solution to 
Hill’s Equation if we identify 
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α ≡ −

1

2
β′, γ ≡

1 + α2

β
� =

Z s2

s1

ds

�(s)
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x(s) = A
√

β(s) sin[ψ(s) + δ]



The Weak Focusing Synchrotron/Betatron
§ Early accelerators (betatrons in particular, and early synchrotrons) employed 

what is now called “weak focusing”

R0

d
y

x

Let’s	look	at	the	stability	

of	transverse	motion	in	this	system…
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n	=	“field	index”



Equation of Motion
§ In rotating coordinate system, 

§ Hence,
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EQUATION OF MOTION 69 

Reference Particle 
orbit trajectory 

Figure 3.9. Comparison of reference orbit path length ds and particle path length v, df. 

Since u, K us and u, e us, to a very good approximation the total momen- 
tum I, of the particle is ymo,. So 

Now, change to s as the independent variable. Then 

d d s d  
dt dt ds ' 
_ -  - -- 

and from Figure 3.9 we see that 

Hence, assuming d 2s/dt  = 0, 

2 d 2  
ds2. 

Replacing r with p + x ,  the equation of motion becomes 

(3.38) 

(3.39) 

(3 -40) 

(3.41) 

(3.42) 

d2x

ds2
� R0 + x

R2
0

= �eBy

p

✓
1 +

x

R0

◆2
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B = By(y = 0) = B0

✓
R0

r

◆n

r = R0 + x

B = B0

✓
1

1 + x/R0

◆n

⇡ B0(1�
n

R0
x)



Stability within a Weak Focusing System

§ Thus: 

§ So we get, 

§ or,

x00 +Kxx = x00 +

✓
�nB0/R0

B0R0
+

1

R2
0

◆
x = 0
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By = B0 �
nB0

R0
x Bx = �nB0

R0
y (r⇥ ~B = 0)

x00 +
1� n

R2
0

x = 0

y00 +
n

R2
0

y = 0
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Stability within a Weak Focusing System

§ Thus: 

§ So we get, 

§ or,

x00 +Kxx = x00 +

✓
�nB0/R0

B0R0
+

1

R2
0

◆
x = 0

!83M. Syphers          PHYS 790-D             FALL  2019

By = B0 �
nB0

R0
x Bx = �nB0

R0
y (r⇥ ~B = 0)

x00 +
1� n

R2
0

x = 0

y00 +
n

R2
0

y = 0
<latexit sha1_base64="vGbFnDGOUYhFE6sVOdfBodcYMnM=">AAACA3icbZDLSgMxFIbPeK31VnWnm2CRCkKZ6UZBhaobl1XsBdpaM2mmDc1khiQjDEPBja/iRkQRt76EO9/G9LLQ1h8CH/85h5PzuyFnStv2tzUzOze/sJhaSi+vrK6tZzY2KyqIJKFlEvBA1lysKGeCljXTnNZCSbHvclp1exeDevWeSsUCcaPjkDZ93BHMYwRrY7Uy23Eud9DwJCaJ6CfXLfu20G8cx+gU2a1M1s7bQ6FpcMaQLZ6dvNwBQKmV+Wq0AxL5VGjCsVJ1xw51M8FSM8JpP92IFA0x6eEOrRsU2KeqmQxv6KM947SRF0jzhEZD9/dEgn2lYt81nT7WXTVZG5j/1eqR9o6aCRNhpKkgo0VexJEO0CAQ1GaSEs1jA5hIZv6KSBebQLSJLW1CcCZPnoZKIe8YvjJpnMNIKdiBXdgHBw6hCJdQgjIQeIAneIU369F6tt6tj1HrjDWe2YI/sj5/APKTl+s=</latexit><latexit sha1_base64="P4GMbXh2CYbpcVZ45vpOZ/aSxxA=">AAACA3icbZDLSgMxFIYz9VbrrepOFwaLVBDKTDcKKlTddFnFXqAz1kyaaUMzmSHJCMNQcOOruBFRxK0v4c5ncWN6WWjrD4GP/5zDyfndkFGpTPPLSM3Mzs0vpBczS8srq2vZ9Y2aDCKBSRUHLBANF0nCKCdVRRUjjVAQ5LuM1N3exaBevyNC0oBfqzgkjo86nHoUI6WtVnYrzucPbE8gnPB+ctUyb4p9+ziGp9BsZXNmwRwKToM1hlzp7OT5due7XGllP+12gCOfcIUZkrJpmaFyEiQUxYz0M3YkSYhwD3VIUyNHPpFOMryhD/e004ZeIPTjCg7d3xMJ8qWMfVd3+kh15WRtYP5Xa0bKO3ISysNIEY5Hi7yIQRXAQSCwTQXBisUaEBZU/xXiLtKBKB1bRodgTZ48DbViwdJ8qdM4ByOlwTbYBfvAAoegBMqgAqoAg3vwCF7Aq/FgPBlvxvuoNWWMZzbBHxkfP8t0mU0=</latexit><latexit sha1_base64="P4GMbXh2CYbpcVZ45vpOZ/aSxxA=">AAACA3icbZDLSgMxFIYz9VbrrepOFwaLVBDKTDcKKlTddFnFXqAz1kyaaUMzmSHJCMNQcOOruBFRxK0v4c5ncWN6WWjrD4GP/5zDyfndkFGpTPPLSM3Mzs0vpBczS8srq2vZ9Y2aDCKBSRUHLBANF0nCKCdVRRUjjVAQ5LuM1N3exaBevyNC0oBfqzgkjo86nHoUI6WtVnYrzucPbE8gnPB+ctUyb4p9+ziGp9BsZXNmwRwKToM1hlzp7OT5due7XGllP+12gCOfcIUZkrJpmaFyEiQUxYz0M3YkSYhwD3VIUyNHPpFOMryhD/e004ZeIPTjCg7d3xMJ8qWMfVd3+kh15WRtYP5Xa0bKO3ISysNIEY5Hi7yIQRXAQSCwTQXBisUaEBZU/xXiLtKBKB1bRodgTZ48DbViwdJ8qdM4ByOlwTbYBfvAAoegBMqgAqoAg3vwCF7Aq/FgPBlvxvuoNWWMZzbBHxkfP8t0mU0=</latexit><latexit sha1_base64="J3dVSe6n9lqFKsN1uWsy4+OhF5A=">AAACA3icbZDLSsNAFIYn9VbrLepON4NFKggl6UZBhKIbl1XsBZoYJtNJO3QyCTMTIYSAG1/FjQtF3PoS7nwbp20WWv1h4OM/53Dm/H7MqFSW9WWUFhaXllfKq5W19Y3NLXN7pyOjRGDSxhGLRM9HkjDKSVtRxUgvFgSFPiNdf3w5qXfviZA04rcqjYkboiGnAcVIacsz99Ja7dgJBMIZz7Mbz7pr5M5ZCs+h5ZlVq25NBf+CXUAVFGp55qcziHASEq4wQ1L2bStWboaEopiRvOIkksQIj9GQ9DVyFBLpZtMbcnionQEMIqEfV3Dq/pzIUChlGvq6M0RqJOdrE/O/Wj9RwambUR4ninA8WxQkDKoITgKBAyoIVizVgLCg+q8Qj5AOROnYKjoEe/7kv9Bp1G3N11a1eVHEUQb74AAcARucgCa4Ai3QBhg8gCfwAl6NR+PZeDPeZ60lo5jZBb9kfHwDiB2WIQ==</latexit>



Stability within a Weak Focusing System

§ Thus: 

§ So we get, 

§ or,

x00 +Kxx = x00 +

✓
�nB0/R0

B0R0
+

1

R2
0

◆
x = 0

!83M. Syphers          PHYS 790-D             FALL  2019

By = B0 �
nB0

R0
x Bx = �nB0

R0
y (r⇥ ~B = 0)

y00 +Ky y = y00 +
n

R2
0

y = 0

x00 +
1� n

R2
0

x = 0

y00 +
n

R2
0

y = 0
<latexit sha1_base64="vGbFnDGOUYhFE6sVOdfBodcYMnM=">AAACA3icbZDLSgMxFIbPeK31VnWnm2CRCkKZ6UZBhaobl1XsBdpaM2mmDc1khiQjDEPBja/iRkQRt76EO9/G9LLQ1h8CH/85h5PzuyFnStv2tzUzOze/sJhaSi+vrK6tZzY2KyqIJKFlEvBA1lysKGeCljXTnNZCSbHvclp1exeDevWeSsUCcaPjkDZ93BHMYwRrY7Uy23Eud9DwJCaJ6CfXLfu20G8cx+gU2a1M1s7bQ6FpcMaQLZ6dvNwBQKmV+Wq0AxL5VGjCsVJ1xw51M8FSM8JpP92IFA0x6eEOrRsU2KeqmQxv6KM947SRF0jzhEZD9/dEgn2lYt81nT7WXTVZG5j/1eqR9o6aCRNhpKkgo0VexJEO0CAQ1GaSEs1jA5hIZv6KSBebQLSJLW1CcCZPnoZKIe8YvjJpnMNIKdiBXdgHBw6hCJdQgjIQeIAneIU369F6tt6tj1HrjDWe2YI/sj5/APKTl+s=</latexit><latexit sha1_base64="P4GMbXh2CYbpcVZ45vpOZ/aSxxA=">AAACA3icbZDLSgMxFIYz9VbrrepOFwaLVBDKTDcKKlTddFnFXqAz1kyaaUMzmSHJCMNQcOOruBFRxK0v4c5ncWN6WWjrD4GP/5zDyfndkFGpTPPLSM3Mzs0vpBczS8srq2vZ9Y2aDCKBSRUHLBANF0nCKCdVRRUjjVAQ5LuM1N3exaBevyNC0oBfqzgkjo86nHoUI6WtVnYrzucPbE8gnPB+ctUyb4p9+ziGp9BsZXNmwRwKToM1hlzp7OT5due7XGllP+12gCOfcIUZkrJpmaFyEiQUxYz0M3YkSYhwD3VIUyNHPpFOMryhD/e004ZeIPTjCg7d3xMJ8qWMfVd3+kh15WRtYP5Xa0bKO3ISysNIEY5Hi7yIQRXAQSCwTQXBisUaEBZU/xXiLtKBKB1bRodgTZ48DbViwdJ8qdM4ByOlwTbYBfvAAoegBMqgAqoAg3vwCF7Aq/FgPBlvxvuoNWWMZzbBHxkfP8t0mU0=</latexit><latexit sha1_base64="P4GMbXh2CYbpcVZ45vpOZ/aSxxA=">AAACA3icbZDLSgMxFIYz9VbrrepOFwaLVBDKTDcKKlTddFnFXqAz1kyaaUMzmSHJCMNQcOOruBFRxK0v4c5ncWN6WWjrD4GP/5zDyfndkFGpTPPLSM3Mzs0vpBczS8srq2vZ9Y2aDCKBSRUHLBANF0nCKCdVRRUjjVAQ5LuM1N3exaBevyNC0oBfqzgkjo86nHoUI6WtVnYrzucPbE8gnPB+ctUyb4p9+ziGp9BsZXNmwRwKToM1hlzp7OT5due7XGllP+12gCOfcIUZkrJpmaFyEiQUxYz0M3YkSYhwD3VIUyNHPpFOMryhD/e004ZeIPTjCg7d3xMJ8qWMfVd3+kh15WRtYP5Xa0bKO3ISysNIEY5Hi7yIQRXAQSCwTQXBisUaEBZU/xXiLtKBKB1bRodgTZ48DbViwdJ8qdM4ByOlwTbYBfvAAoegBMqgAqoAg3vwCF7Aq/FgPBlvxvuoNWWMZzbBHxkfP8t0mU0=</latexit><latexit sha1_base64="J3dVSe6n9lqFKsN1uWsy4+OhF5A=">AAACA3icbZDLSsNAFIYn9VbrLepON4NFKggl6UZBhKIbl1XsBZoYJtNJO3QyCTMTIYSAG1/FjQtF3PoS7nwbp20WWv1h4OM/53Dm/H7MqFSW9WWUFhaXllfKq5W19Y3NLXN7pyOjRGDSxhGLRM9HkjDKSVtRxUgvFgSFPiNdf3w5qXfviZA04rcqjYkboiGnAcVIacsz99Ja7dgJBMIZz7Mbz7pr5M5ZCs+h5ZlVq25NBf+CXUAVFGp55qcziHASEq4wQ1L2bStWboaEopiRvOIkksQIj9GQ9DVyFBLpZtMbcnionQEMIqEfV3Dq/pzIUChlGvq6M0RqJOdrE/O/Wj9RwambUR4ninA8WxQkDKoITgKBAyoIVizVgLCg+q8Qj5AOROnYKjoEe/7kv9Bp1G3N11a1eVHEUQb74AAcARucgCa4Ai3QBhg8gCfwAl6NR+PZeDPeZ60lo5jZBb9kfHwDiB2WIQ==</latexit>



Aperture of Weak Focusing System
§ The solutions of the equations of motion are: 
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SO,	maxima	in	x,	y	grow	with	the	RADIUS	of	the	accelerator,		

			for	a	given	set	of	initial	beam	conditions	

Higher	energies	required	larger	radii	(for	~	constant	B),	and	

			hence	the	apertures	had	to	grow	as	well
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sitting	inside	the	beam	chamber	of	the	Bevatron	(LBNL)



Betatron Oscillation Amplitude
§ Transverse oscillations in a synchrotron (or beam line) are called Betatron Oscillations 

(first observed/analyzed in a “betatron” accelerator) 

§ Write x,x’ in terms of initial conditions x0, x’0 :

=⇒ x(s) =

√

β(s)

β0

[x0 cos∆ψ + (α0x0 + β0x
′

0) sin∆ψ]

amplitude: A =

√

x2

0
+(α0x0+β0x′

0
)2

β0
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x = a
√

β sinψ + b
√

β cos ψ

x′ =
1
√

β
([b − aα] cos ψ − [a + bα] sinψ)

↓

a =
x0√
β0

, b =
α0x0 + β0x

′

0√
β0

x0 =
1p
�
([b� a↵] cos� � [a+ b↵] sin� )

x(s) = a
p
� cos� + b

p
� sin� 



Free Betatron Oscillation
§ Suppose a particle traveling along the design path is given a sudden 

(impulse) deflection through angle 
§ Then, downstream, we have

∆x
′
= x

′

0 = ∆θ

s0

s

x

x(s) = ∆θ
√

β0β(s) sin[ψ(s) − ψ0]
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Example:
Suppose �✓ = 0.4 mrad, �0 = 4.0 m, �(s) = 6.4 m,
and � = n⇥ 2⇡ + 30�. Then x(s) = 1 mm.



Courant-Snyder Invariant
§ In general,

x = A
√

β sinψ

x′ =
A
√

β
[cos ψ − α sinψ]

βx′ = A
√

β[cos ψ − α sinψ]

= A
√

β cos ψ − αx

βx′ + αx = A
√

β cos ψ
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Courant-Snyder Invariant
§ In general,

x = A
√

β sinψ
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√
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[cos ψ − α sinψ]

βx′ = A
√

β[cos ψ − α sinψ]

= A
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β cos ψ − αx

βx′ + αx = A
√

β cos ψ
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= γx2

+ 2αxx′
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x2 + (βx′ + αx)2 = A2β

A2 =
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β

While C-S parameters evolve along the beam line, the 
  combination above remains constant.
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§ The initial conditions of a freely-oscillating particle in the beam optics system determine 
its C-S invariant and hence the particle’s phase space ellipse

Properties of the Phase Space Ellipse

area = πA
2

x
′

x

area = πA
2
≡ ϵ

x̂ =

√

βϵ/π

x̂′ =

√

γϵ/π

x(x′ = 0) =
√

ϵ/πγ

x′(x = 0) =
√

ϵ/πβ

while the ellipse changes 
shape along the beam line, 
its area remains constant

Emittance =  area within a phase  
        space trajectory

γx2
+ 2αxx′

+ βx′2
= A2
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